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of &b o | - A = ol =
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2000
AFBIH ] 19,042,142 13,944,735 5,007,407 [2 1,396,953 & 965,507 m 190,680 Al 16,489,002]
2200
212 MBS ) M b 134,215 129,315 4,900
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s 134,215 129,315 4,900
2021
S A2 ALY 126,415 121,515 4,900
100
2 A0l AF 120,415 115,515 4,900
120
A A E 2 Y| 99,461 94,561 4,900
201
o2 o H| 77,495 72,595 4,900
77,495 72,595 4,900/01 Lur2dy|
o3, ZEZQIUMA 3,540
- sANHRSZ DXAN Y2 3,540
HEESH
2 X (2202 x40,0000§x23] )-J| & (19021 x37, 00004 x23] )
- 3,540
6.2 2| 560
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n; = J X 5
oo | o a s E
a2 8 NS MAE == o & oA = A 2
o9 A& & HI R XYl 800
- 9YADNE E42s J10] SAIE2H|
200,000& x2CH x23] = 800
2300
A3 &2 ZHY| 5,573,070 4,402,413 1,170,657 (=2 1,396,953 & 785,507 1 190,680 Al 3,199,930]
2310
INE=IE==DN| 140,614 141,154 AB40| [= 0 & 0 33,660 Al 106,954]
2311
AMNSI S XAFS 140,614 141,154 AB40 [= 0 = 0 33,660 Al 106, 954]
100
A0 A 139,114 139,654 AB40 [= 0 = 0 33,660 Al 105, 454]
120
FAaAE A 137,382 137,922 AB40| [= 0 & 0 33,660 Al 103,722]
202
(005 41,020 41,560 A 540
41,020 41,560 AB40(01 =LHO HI
oFQRYF =X
ZE{(10,000&x22Hx6Ux 122 )-(10,000 x1Hx6Lx92 )}
- JI A (10,000 x22H x6L x128) = A 540
2330
I8 =R 5,432,456 4,261,259 1,171,197 [=2 1,396,953 &= 785,507 1 157,020 Al 3,092,976]
2331
I E XA 5,432,456 4,261,259 1,171,197 =2 1,396,953 & 785,507 1 157,020 Al 3,092,976]
200
AP Ol A 5,415,038 4,243,841 1,171,197 =2 1,396,953 & 785,507 1 157,020 Al 3,075,558]
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B HME A = W & o = oA
= 52,000
SHAOIS A
2% (150,012,000 x141)-71 = (90,012, 0002 x141)
- 60,000
cHagy Sy
205 (80,850, 0002 x 1A1)-JI & (76,838, 0002Ix 141) = 4,012
oSoENASE KT L oEe)|
205 (7,665,0002x14)-71 & (7,066, 0008x141) = 599
220
KEAIAFS 72,890 21,890 51,000
401
AMEHIZLE 30,000 20,000 10,000
Chbl
30,000 20,000 10,000/01 Al&HI
cnagnA
Z & (30,000,000 x141)-J1 & (20,000,000&x14!l) = 10,000
402
012k X} = 0] 41,000 0 41,000
&
41,000 0 41,000(01 SI2t X228 %
oHdZE H(PO0OL) 20,000,000&x14al = 20,000
ool EYARY HATAL 11,000,0002x14 = 1,000
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n’ = I A Hl mi
O & 9 At = | =
I 28 HIE . AIAE = ol A oM = A 2
osilH SMelE=zY E3Al
10,000,000 x 14! = 10,000
2400
ZEHQ X S AFS| R | 13,334,857 9,413,007 3,921,850 [=2 0 = 180,000 0 Al 13,154,857]
2410
yNE=D =L 13,187,789 9,273,549 3,914,240, [=2 0 = 180,000 0 Al 13,007,789]
2411
CAIHE 22 12,764,025 8,953,135 3,810,890, [= 0 = 180,000 0 Al 12,584,025]
200
AHESL O] A 12,764,025 8,953,135 3,810,890 [=2 0 = 180,000 0 Al 12,584,025]
210
BEAS 704,365 603,465 100,900 [= 0 = 180,000 0 Al 524,365]
401
AA&H L 704,365 603,465 100,900
CHH|
700,000 600,000 100,000({01 Al&HI
oY M2l TAHEBEEZ HAE(A3-32, L=220m,B=6m)& o4 2
-200, 000,000 = /200,000
(%) 100,000
(Al 100,000
oY M2l TAHEEZZ NA(A3-16,L=180m,B=6m)
300,000,000 x 14! = 300,000
() 100,000
(Al) 200,000
4,365 3,465 900|03 Al& L CHYI
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100,000,000& x0.90/100 = 900
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CHH|
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oA MAHel TAIHE =L (A2-96,L=84m,B=8m)
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= 700,000
oZol %ME TAIHEEZE A (A3-1,L=80m,B=6m)
200,000,000 x 14! = 200,000
oS5 TRel TAHEEZZ A (A3-44,1=120m,B=6m)
200,000,000 x 14! = 200,000
oXa ZAHEEZ2 M (A3-2,L=191m,B=6m)
Z A (450,000,000 x141)-J1 & (200,000,000 x 14!)
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oQF MH2 TAHEEZZ N (A2-43,L=160m,B=8m)
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oYU Q2| TAHE?EZZ M (A2-12,L=150m,B=8m)
150,000,000 x 14! = 150,000
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o 24| TAHEEZZ M (A2-62,L=190m,B=8m)
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3,700,000,000=&x0.27/100 = 9,990
2414
PNESEE N 173,764 170,414 3,350
100
24 A0l 4 167,264 166,414 850
120
A& FH| 134,938 134,088 850
201
282 A H| 134,938 134,088 850
134,938 134,088 850/01 Lyt
o6. 22| 850
COHEBAIKD 2B BERY ZAY)
5,000 X172 X102 - 850
200
A Ol & 6,500 4,000 2,500
220
KEAIAFS 6,500 4,000 2,500
405
THak 5 S bl 6,500 4,000 2,500
6,500 4,000 250001 XatU S E 5 =)
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o = x
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2,500,000%!x 1CH 2,500
2417
ARDEUAY 250,000 150,000 100,000
200
NELTS 250,000 150,000 100,000
220
R AFES 250,000 150,000 100,000
401
LT 250,000 150,000 100,000
CH
250,000 150,000 100,000(01 Al H|
CATRBIEBIME B ALY
2 (250,000,0008 x141) - ,000,00021x141)
100,000
2420
Zeipel 147,068 139,458 7,610
2421
Zeiphe| Al 147,068 139,458 7,610
100
2 401l A 134,631 134,091 540
120
N ET 127,704 127,164 540
202
o1l 35,920 35,380 540
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oFQRYUF =XOHHI 10,000]&x1Ex6LLx98 = 540
200
T 12,437 5,367 7,070
220
KEXIAFS 12,437 5,367 7,070
402
012t X2 0] 6,000 0 6,000
&
6,000 0 6,000/01 QIZtXE2E X
om0z 2IFY| 400,0008x 155 = 6,000
405
NFNE= =] 5,837 4,767 1,070
5,837 4,767 1,070101 A& =S F S|
cOlRYZE mRlE P 570,00020x10H = 570
o2E Y2g CNEINMA 7Y 500,0002x10N = 500
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